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Finding the value of terms in a third difference sequence  

There are some methods as (matrix or Cramer’s Rule) for solving the third difference sequences 

problems with some matrix calculations.  

By this article we are going to introduce a general formula with easy function and without matrix 

calculations for determining the values of the terms in third difference sequences.   

The mentioned method is based on to this fact, << each one of the third difference sequences can be 

Divide to three groups {a, b, c} of sequences >> as blow sample.  

   For determining the values of terms in {a} group we should use of below formula  

 

And for determining the unknown values on it we should use of below formulas. 

** The in formulas is the first terms of the third sequences of differences “the sequences before the 

common difference” in above example the value of is, (-14) and the formula for determining the  

Common difference is for above example it will be  

 

For example: the third term of {a} group in above sequence is {an  = a3 }and the value of it will be 

obtain via below math expression   
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For another example: the fourth term of {a} group in above sequence is {an  = a4 }and the value of it 

will be obtain via below math expression   

 

   For determining the values of terms in {b} group we should use of below formula 

 

And for determining the unknown values on it we should use of below formulas 

 

For example: the third term of {b} group in above sequence is {bn  = b3 }and the value of it will be 

obtain via below math expression   

 

 

 

   For determining the values of terms in {c} group we should use of below formula 
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And for determining the unknown values on it we should use of below formulas 

 

For example: the third term of {b} group in above sequence is {bn  = b3 }and the value of it will be 

obtain via below math expression  
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Below is some related formula for above article. 
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